

Topic - Problem based on the
Determination of the n th derivative
with the help of Leibnitz's theorem

Class - B.Sc (Hons)

By M.S.N.S

Date 01-10-2021

1. Def. $y = x^2 e^{ax}$

Solution $\rightarrow$ we have

$$y = x^2 \cdot e^{ax}$$

$$= (e^{ax}) x^2$$

Say $u = e^{ax}$ $v = x^2$

$$\Rightarrow u_n = a^n e^{ax}$$

$$v_1 = 2x$$

$$u_{n-1} = a^{n-1} e^{ax}$$

$$v_2 = 2$$

$$u_{n-2} = a^{n-2} e^{ax}$$

$$v_3 = 0 = \dots = v_n$$

Now Differentiating n times with respect
to x by Leibnitz's theorem

$$y_n = nC_0 u_n v + nC_1 u_{n-1} v_1 + nC_2 u_{n-2} v_2 + \dots + nC_n u v_n$$

$$nC_0 [a^n e^{ax} x^2] + nC_1 (a^{n-1} e^{ax}) 2x + nC_2 a^{n-2} e^{ax} 2 + 0 + \dots + 0$$

$$= a^n e^{ax} x^2 + 2n a^{n-1} e^{ax} x + \frac{n(n-1)}{1 \cdot 2} a^n e^{ax} + 0 + 0 + \dots$$

$$\therefore y_n = a^n e^{ax} x^2 + 2nx a^{n-1} e^{ax} + n(n-1) a^{n-2} e^{ax}$$

$$= a^{n-2} e^{ax} [a^2 x^2 + 2nx a + n(n-1)] \quad \text{Boxed}$$

2. Find y_n When $y = x^2 \sin x$

By the question

$$y = x^2 \sin x$$

$$= \sin x \cdot x^2$$

Say $u = \sin x$ $v = x^2$

$$u_n = \sin\left(\frac{n\pi}{2} + x\right)$$

$$v_1 = 2x$$

$$v_2 = 2$$

$$v_3 = v_4 = \dots = 0$$

$$u_{n-1} = \sin\left[\frac{(n-1)\pi}{2} + x\right]$$

$$u_{n-2} = \sin\left[\frac{n-2}{2}\pi + x\right]$$

Differentiating both sides with respect to x by Leibnitz's theorem

$$y_n = u_n v + n C_1 u_{n-1} v_1 + n C_2 u_{n-2} v_2 + \dots$$

$$\dots + n C_n u v_n$$

$$= \sin\left(\frac{n\pi}{2} + x\right) \cdot x^2 + n \cdot \sin\left(\frac{n-1}{2}\pi + x\right) \cdot 2x$$

$$+ \frac{n(n-1)}{1 \cdot 2} \sin\left(\frac{n-2}{2}\pi + x\right) \cdot 2 + 0 + 0 \dots$$

$$= x^2 \sin\left(\frac{n\pi}{2} + x\right) + 2nx \sin\left(\frac{n-1}{2}\pi + x\right)$$

$$+ n(n-1) \sin\left(\frac{n-2}{2}\pi + x\right)$$

3. If $y = x^{n+1} \log x$

Prove that -

$$y_n = \frac{n(n-1)}{x}$$

Solution

We have

$$Y = x^{n-1} \log x$$

Diff. w.r.t respect to x

$$Y_1 = (n-1)x^{n-2} \log x + x^{n-1} \cdot \frac{1}{x}$$

$$= (n-1)x^{n-2} \log x + x^{n-1} \cdot \frac{1}{x}$$

$$\Rightarrow xy = (n-1)x^{n-1} \log x + x^{n-1}$$
$$= (n-1)y + x^{n-1}$$

Differentiating w.r.t respect to x
by using Leibnitz

$$xy_n + (n-1)(1) \cdot y_{n-1} = (n-1)y_{n-1} + (n-1)$$

$$\Rightarrow xy_n + (n-1)\cancel{y_{n-1}} = (n-1)\cancel{y_{n-1}} + (n-1)$$

$$\Rightarrow y_n = \frac{(n-1)}{x} \text{ Hence the } \underline{\text{required result.}}$$